-abejjia Joy 01 3orq Aem ay} |je pue sadieg g
8yl Jo Yib ay1 ybnouyl uels ays ‘Kol yum no Buikin
iAosydoud sy} pajiyiny pey ays *Apoq sjoym Jay
Jano uni Jerem syl Bumel ‘ino swire Jay nd 1IBpoQ

‘A4S 8y} woly Yo} painod uies jo U0 Ue pue
uado paxoeIo Ayl aiojeq ‘uswiow B 10} [Iis ‘eiey)
Buny Aey -pesep auy) aroge Buieg ojul pswoo|q
Spnojo Aeay Hoe|q ‘pateos pue payseiy) ayeus
8yl SY "PlIYD [[leWS & usaq p,ays aouls quadieg Ayg
8y} ‘@Injeald siy} Jo S8LI0}S pieay pey ays ‘Sem Ji
1eym mauy 1IBpoQ ybiu 18 pesap sy JO SINojod

oyl |[e :JaAjis pue en|q Yoe|q ‘e|dind aiem sepis S|

: ‘}9S) winlj ueyy Js|fe; sem 3 jjun
‘19661q pue 1eb6iq Buimolb ‘pa|BBim pue pewlinbs
8yeus ay} ‘payodiey )i sy ‘ino Aem sy Buiysnd ‘exeus
® o peay a8y} pebiswse syidep s) woid “jey ul
pexOBID )l S Bu0ls Bupjeys sy punoJe paddoy pue
1des| pueg 400 s)I woiy Buliquin ‘Y paJoLIW Yyles
8yl ‘uoog Ae| i s1eyM pa|qIBI] BUOIS PBIoeS By |

£ SiU sem
¢,Mou pauaddey 1eym 1ng ‘Il sSpeWw pey ausg "Mool

- Jeaub sy Jo aseq ey 1e Ajjueb auols syl pre| ays
‘pley Buiyresig "yiwiem abuelo s,winij ol Payselo
1BpoQ s sy Jo 1no paddod Jeis is.1p By SE ISNp

e Jay Ul payslUs puim ayj jaun uels ‘wnJj o0} uel
IBpoQ ‘eseds 01 Yo| swi ou Sem aisy ] Aeme paj)
Aey1 ‘uoissed Jay Jo pauiiie) ‘pue Buipsiym ysiey
1Y} 1IN0 PBUMOIP 8D10A JoH "sajlds pues syl Jo
Wbnejsuo syy oul Ajuwuy Bues 1BpoO ‘mou Jebuong

"90I0A JBy JO Yjealq 8yl :Mau 8ys puim 1Ssjjews
@y} uodn Buljjed sem ayg ,'puim 1ssjews sy} Aq
PAAOW SI PUBS,, /,PIES UBLIOM 8SIM 8U} prY 1BUM

"de1s Jeyjoue exey 0} s|qissoduil 11 Bupjew

‘sopjue Jay te payainio Ajuioggnis Asyi Ing ‘Jepnoj
Bues 16poQ "898} Jay Woly }oeq YurIys sejids pues
9y ‘1sed sebe ui yesap sy} ybnoiy; psyssew oym
‘s10}s80UR J8y JO SBUOS 8y} {pnoj a1em SpIom JoH

, ‘Bues ayg

"pulwl Jay ojul swed yeyy Buiyi 1sa1y sy pip 1IBpoO
‘Aym Ajpoexes Buimous| JO0N "MOU |} 1,Up|Nod ays
:9S0J0 0s sem ayg "yibualls snoioolIa) Yim 1eoiy)
8y e Buimeo pue seauy Jay 1surebe Buiddiym ‘mou
lay dois 01 JepJey Buikly siem sajuds pues ey |

"J9A8.0} JUB|IS pUB PJOD LN}
pINOM Li8s8p 8y} ‘Ul Yoeas pinod ays a10jeq swed
reubiu 41 bis jo o sues Asyy aiojaq pue| 8y} je
Buiyono ‘Ya| a1em aiy s,uns 8y Jo siebuy may e
AluQ wnuj o1 pajulod |fe syoRJ) 8XBUS pue ‘saunp
‘sqniys — 1 spsemoy Buiyihiane |ind o) pswiess

1| "lemod yim Buimolb pue sjdind ‘ebuelo —
SNOWIOUS SeM ]| “Jey JO peaye pawioo] Ajjeuls wnij

18y 8y0yo

0} 8SOU pue Yinow Jay Ojul |MeId pjnoo Asyy os
Buinow doss 0y Jay Joy Bunrem ‘seyuds ayy — 199} Jay
1ano Buimolq pues sy |98} p|nod 1IBPOO "Il pulyaq
Ms ay1 dn Bujuing ‘uozioy a8y 01 uns pey uns sy |

"alay}
1 @Me1 01 DRrU 8US DUR ‘LN 011NN IIPA M NAITIAAC 11

"Butob tsy 1dey auols (000 8y} Ao ‘uing Sem umjs
1oy pue palelsi|q 8iam 188} JoH "pues pal ‘Buiysioos
8y} JaAo pe|quinis pey 16poQ ‘mou sinoy o4

‘81| 18y} JO siojjoAel]

Hesep qod 01 1s8q Jieyl pip pue ‘ejdoad |e perey
S8ljUSSs JUsIoUB S8y | 1ISIA JoU pjnom siebuesis
0s Aip swoy pesep sy} desy 0} sem wie suo
llsy] "pues Jo apew sainjeeso Juids iselds pues
line Aq pspienb sem 001 pesap 1ealb ay) ‘wny|

. PuUIM 1s8|[ews sy} Ag panow

Sl pues ‘auo aji| ‘Jaquisway,, :921APE Jo 8981d BUO
ey Buinib ‘tey pesssiq pue spuey s,16poQ ui i
peoe|d pey ays "10ds Bulpiy s) Woiy 8Uols 8y} 1o
1yBNno.Ig aquy Jay JO UBLLIOM BSIM BUj} ‘SIeak UBASS
10} ures ou usaq pey aisy) usypp "ejdoad Jsy panes
OUM BUO 8y} 87 PINOM “IBJUIM JO PESP Bl Ul ‘UMEP
Je uiog sem oym ‘Isjybnep paiyy e jo Jeyybnep paiyy
sy “Aosydoud ui Jo usxods usaq pey isenb s,6poQ

"aIp 10 9AB9| 0} BARY PINOM

Asu} pue ‘JeAsio) Hesap ulewal pjnom puej s,sjdoad
18y ‘pejie) 8ys j| 1osuUNs 810§eq ‘L8sap 8y} JO 1jUSD
U} Ul 3004 BAISSBW 8U} ‘WinJ| 0} }} UIN}es 0} pey ays
"Hasap 8y} Jo Jesy Areay ay) eudsep ‘spuey Jay Ui
W6l pue 000 18} 1| "8UOIS PaIoeS 8y pjey IBpoQ




‘Aosydoud ay; paydrew yuiq Jo4 2
M |NJeoINosal Sem aysg q
b G/ ‘@NN\M ‘Buoils Sem ayg e
0, \w ¢ uesoyo 16poQ sem Aupy 0z

—~
e
o Pt

-
adieg Mg syl 2
selids ay1 q

wnlj e

¢1BpoQ yum
98S dM Op JeUM JO OUAA “Uuoliel1sniji 8yl 1e Yoo 61

SH[L

P

‘pusbel e
"JUNOJdJ [BOLIO)SIY UB B

Se paquosep 1s8q S| 9ANRLEBU SIY| 8]

Jay Bupjoyo Ag g
BUOls paJeds ay) bupel Aq e

¢16pOQ 114 Seuds auy pInom moH /1

asel q anj e

"Il SPJEMO]

seunp pues ay} [ind pjnood winJ| §i Se pawass )| 9|

soinb Gl
[euy 14
Ajprey el
| uioqgnis cl
gyanayvy ‘ JAILLI3r Q,<
:3jqp3 2y} 213/dwio)
"aADa2lpD

up aAby noA Ay, ay1 doap noA Jj :Aj, ui pua sqiaApp 1sopy

“Apppinb upi - upi b3

‘9427 b J0 21n121d 13133q D M SQIAPY

D2 MU - DD b3

‘unou b Jo ain)oid 131159 D sn aAID saA13lpYy

e

Buiyiewos Jo snuso sy ||

108dsal Jo Aypom pue Ajoy si eyl Buiyilswosg oL

noge payium 1o pa|bbupy 6
Buiyiawos o yosess ul Asuinoly g
8|qisuas 10 wabiew; £

bs 8100 esim jsen

'52N|D 3Y1 0] 1X3} Y] WIOK SPIOM Y] YIID

‘Kaenqeoop)

SQ43APY pup san1p3lpy

PI f1d SUONEOYq

ayeuse o
66e ue q
jyooie e
¢,8U0]S paioes 8y}l Ssem Jeyp\ 9

abueio o
s|dund q
3oe|q e
;8teys uadiag
AS By pue wni| pip Nojoo TeYpm

UBLUOM SSIM S,8L1 8y} 9
saloeydoid syl g
1IBpoQ e
&uPUIM ]S8|[RWS
sy} Aq penow si pues, ey} pres oym +

[nyemod pue ybnos o
61| pue 000 q
Anesay pue joy e
¢1BpoQ 0} |98} BUOIS 8L PIP MOH €

sjdoad Buljjemp-lesep o

ssioaydoud jusioue g

pues Jo spew sainiesio e
¢,selds pues sy} ale 1eUM 2

"00J BAISSBW B 0
'8U0]S paloes e q
‘mbe e

sem wnij |

suonseny




Name:

Put i before e
Except after ¢
Or when
sounded like a
As in neighbor
and weigh.

1. feild
2. ceiling
3. movie
4, ieght
5. believe
6. theif
7. piece
8. sliegh
9. tie
10. recieve

correct spelling as in neighbor and weigh.

Circle the correct spelling of each word below.

field 1. theif
cieling 12. prairie
movei 13. weight
eight 14. yeild
beleive 15. vein
thief 16. percieve
peice 17. chief
sleigh 18. viel
tei 19. friend
receive 20. conciet

Usually the vowel i comes before the vowel e in English
words. There are many exceptions to this rule. This poem
gives the two main exceptions. Often, but not always, it
is ei after the letter ¢ as in the word deceive. Also, if the
vowels make the sound of a long a, then ej is usually the

thief

prairei

wieght

yield

vien

perceive

cheif

veil

freind

conceit
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The origin of our home planet, Earth, is linked to the emergence of the sun. About

5 billion years ago, a nebula of gas and dust floating in space began to coalesce,
contract and spin, forming a disc in the middle. It became so dense that it led to the
creation of a star, our sun. The remaining disc of dust and gas kept revolving around
the newly formed star.

These specks of dust were pulled towards each other as a result of their own gravity.
The specks of dust grew bigger and became small rocks. Small rocks combined to
make bigger rocks and so it went for another 500 million years.

4.5 billion years ago, Earth became the size and shape that we know today but it was
a very different place. It was a boiling ball of molten rock. The temperature on this
lava-like surface would have been about 1000°C. There was no air and only traces of
water in the form of steam.

For the next 700 million years, Earth was hit with a bombardment of debris from the
solar system. During this time, another planet about the size of Mars collided with
the newly formed Earth. The collision sent dust and debris into space which, over the
next 1000 years, settled to form a ring that orbited Earth. 100 million years later, this
debris coalesced to form a large ball of rock that we now call the moon.

This bombardment also provided the new planet with different chemicals and
minerals. The meteoroids and asteroids were made of different materials and also
carried very small particles of something that would be a key feature of the future
planet: water. Over hundreds of millions of years, these minerals and water particles
accumulated to a point where liquid water became present on the surface.

The Earth’s surface began to cool which allowed a crust to form. Gases also started
to accumulate and an atmosphere began to develop. 3.8 billion years ago, the
bombardment of the planet eased and Earth began to look something like we know
today. Oceans of water were present, with volcanic islands scattered across them.

It would be another 2 billion years before large land masses and breathable air
appeared and complex organisms were living in the oceans. The first humans didn’t
arrive for another 1.6 billion years after that.

It seems remarkable that this planet we know today, the planet we
call home, came into existence as a result of some specks of dust
floating in space.




( Formation of Earth - Worksheet

Name Date

Formation of Earth

1. What celestial body had to be formed first before Earth could come into existence?

2. How long did it take for Earth to become roughly the size and shape it is today?

3. Research the definitions for the words below. Write the definition beside the word.

a) nebula

b) debris

c) bombardment

4. Create a five step summary for the formation of Earth.

)

COMPREHENSION
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When multiplying we can round to an easier number and then adjust.

Look how we do this with 4 x 29

29 s close to 30. We can do 4 x 30 in our heads because we know 4 x 3 = 12
4 x 30 = 120

We have to take off 4 because we used one group of 4 too many: 120 — (1 x 4) = 116

4 x 29 = 116

a 19x3 = 20 «x 3 - 3 = 57
b 8x29 = x - =
c 18 x 6 = x - -
d 7 x39 = X - =
e 28x5= x - =

We can also adjust up. Look how we do this with 6 x 62:
62 is close to 60. We can do 6 x 60 in our heads because we know 6 x 6 = 36

6 x 60 = 360
We have to then add 2 more lots of 6: 360 + 12 = 372
6 x 62 = 372

Use the compensation strategy to answer the questions. The first one has been done for you.

Use the compensation strategy and adjust up for these. The first one has been done for you.

Would | use the compensation
a 41x3 = 40 x 3 + 3 = 123 strategy with numbers such as
56 or 84? Why or why not?
b 81 x4 = X + =
c 22x9= X + =
d 32 x9 = x + =
e 7x62-= X + =

SERIES

TOPIC




ntal multipl

In this activity you’ll work alongside a partner. You'll each need two dice and your own copy
of this page. For each line, roll the dice to find the tens digit and then roll it again to find the
multiplier. Your partner will do the same. Use the compensation strategy to mentally work
out the answers to the problems.

e ) (_unie ) [ Muttpler | [ Answer
e :
............... o e g
e T e
o e e
............... o ey e
o e e
............... e e
............... e g
............... e e
o e e

a Check each other’s calculations. You may want to use a calculator.

b Now, use the calculator to add your answers. The person with the highest score wins.

SERIES TOPIC




Factors are the numbers we multiply together to get to another number:

. factor | x | factor | = | wholenumber |

How many factors does the number 12 have? 4 x 3 = 12,6 x 2 = 12,1 x 12 = 12
4,3,6,2,1and 12 are all factors of 12.

List the factors of these numbers:

a 18 b 25
c 14 d 9

e 16 f 15
g 30 h 42

Fill the gaps in these sentences. The first one has been done for you.

a 1 or_16 or_2 or_8 or_ %4 peoplecanshare 16 lollies evenly.

b or or or or or people can share 20 slices of pie evenly.

c or or or or or or or people can share 24 cherries.
d or or or or or or or people can share 30 pencils.
e or ___ people canshare 5 balls evenly.

Use a calculator to help you find as many factors of 384 as you can:

A factor divides into
a number evenly
with no remainder.

SERIES TOPIC



